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3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�

14 Reflection B1 for reflection 

in th xe -axis 
 (or y = 0) 

B1 for x-axis (or y = 0) 
NB: award no marks if more than one transformation is given 

3DSHU��0$����)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�

13 (a) Rotation B2 

[B1 

(b) Reflection in the y-
axis 

B1

B1

for a fully correct rotation at (–4,–1), (–3,–1), (–4,–4), (–1,–2) 

for the quadrilateral in correct orientation and size or rotated 90o anticlockwise about the 
origin] 

 for reflection 

 yfor -axis (or x =0) 

[A combination of transformations scores 0 marks] 

4�

4�
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� 6KDSH�GUDZQ� %�� IRU�VKDSH�ZLWK�YHUWLFHV�DW�����±��������±��������±��������±���

�%�� IRU�URWDWLRQ�RI������DERXW�ZURQJ�FHQWUH��

6KDSH�GRHV�QRW�KDYH�WR�EH�VKDGHG��
$OORZ�VRPH�WROHUDQFH�RQ�YHUWLFHV�DV�ORQJ�DV�WKH\�
DUH�QHDUHVW�WR�WKH�GHVLUHG�SRLQWV��

7KLV�LV�VKRZQ�E\�WKH�RULHQWDWLRQ�RI�WKH�VKDSH��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� 5HIOHFWLRQ��

LQ�x�D[LV
%�� $ZDUG�QR�PDUNV�LI�PRUH�WKDQ�RQH�WUDQVIRUPDWLRQ�

LV�JLYHQ
%��

IRU�UHIOHFWLRQ�

IRU�x�D[LV�RU�y� ���

4�

4�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� 5HIOHFWLRQ�GUDZQ� &�� IRU�DFFXUDWH�UHIOHFWLRQ�GUDZQ� &DQ�EH�KDQG�GUDZQ����

1HHG�QRW�EH�VKDGHG��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

18 Correct 
description 

If more than 1 transformation given 
award B0 

(B1 

BB22 reflectio DQG y axis RU  
reflection DQG x = 0 

reflection RU y axis RU x = 0) 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

13 enlargement B2 Any orientation 

(B1 

for correct enlargement 

for any two sides correct RU a correct enlargement with scale factor other 
than 3 or 1) 

4�

4�
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

18 Correct reflection B2 

(B1 

FRUUHFW�WULDQJOH�GUDZQ�ZLWK�YHUWLFHV�������������������í�� 

for a correct reflection in the line y = a  RU a correct reflection in the 
line x = 3,  RU  triangle in correct orientation with 2 of 3 vertices 
correct) 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� c� �í��

d� �í��
0��

$��

9HUWLFHV�����í��������í��������í���

2QH�FRUUHFW�YDOXH�LV�0�$��UHJDUGOHVV�RI�VHFRQG�
YDOXH�RU�GLDJUDP

$��

IRU�UHIOHFWLRQ�LQ�x�D[LV�VKRZQ�RQ�GLDJUDP�

IRU�c� �í��RU�d� �í��

IRU�ERWK�c� �í��DQG�d� �í��

6&%��IRU�c� �í��DQG�d� �í��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

11 Reflection M1 for a correct reflection of the shape in any line 
RU a correct reflection of at least 3 vertices 

Allow hand-drawn 

1 caA1A

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

18 Rotation 180º 
DERXW��í����� 

C2 Award no marks if more than one 
transformation is given 

(C1 

rotation 180q DERXW��í������RU HQODUJHPHQW�VI�í��FHQWUH��í����� 

rotation 180q RU URWDWLRQ�DERXW��í������ 
25 HQODUJHPHQW�VI�í��RU HQODUJHPHQW�FHQWUH��í������ 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

11 Reflection M1 Allow free hand drawing 

A1 

for a correct reflection of the shape in any horizontal line other than 
the given mirror line 

for a fully correct reflection 

4��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

11 (a)(i) 2 B1 Accept 2× or ×2 oe 

    (ii) cross placed B1 

(b)(i) line drawn B1 

    (ii) y = x B1 

for 2 

for cross correctly placed or indicated by intersection of construction 
lines 

for line y = x drawn 

for y = x oe,  eg. x = y or y ± x = 0 or x ± y = 0 
RU�ft their line drawn in (b)(i) 

Accept line of any length, dotted or dashed 
and/or drawn freehand 

Accept labelled on the diagram 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

18 Rotation drawn B2 

(B1 

correct shape drawn aW (2,í1), (2,í4), (4,í2), (4,í1) 

fRU a cRUUecW VhaSe dUaZQ cORcNZiVe 90Û about (0,0) 
or a shape drawn in the correct quadrant with the correct orientation 
or a shape with at least 3 vertices correct 

4��

4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

3 Reflection shown B1 cao 
4��
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3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�
20 (a) (í2, 1) (í4, 1) 

(í2, 2) (í5, 2) 
B1B1 Shap labelled $ 

 (b) (1, í4) (3, í4) 
(1, í5) (4, í5) 

B1B1 Shap labelled % �

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

16 Enlargement 
centre (1,1) 

scale factor 4 

B2 

(B1 

Enlargement, centre (1,1) and scale factor 4 

two of Enlargement, centre (1,1), scale factor 4 with nothing incorrect) 

No extras.  Accept A as centre. 

If there is a clear reference to a different 
transformation award no marks 

4��

4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

22 translation 

൬
6
-5
൰

B1 for translation 

B1 for vector ൫-
6
5൯

Award no marks if more than one transformation is 
given 

Do noW accepW aV a coordinaWe (í5, 6) 4��


